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Question Number : 1 Question Id : 5500531281 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

o [3x=1, x>
If A is the domain and B is the range of the function f(x) = { | 1 ,
X" +1, x<1,
then A-B=
, [3x-1 x>1
f(x) =1,
(X +], x<1

DDVADANDHD A POFAW DKL B T7fw wand, ePytd A-B=

Options :

(L)

1. %



Question Number : 2 Question Id : 5500531282 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If f:R—>Rand g:R >R are defined by £(x)=x’ —x and g(x)=sin2x, then the

value of x(0,27) that satisfy £(g(x))> 0, lie in the interval
R Radaw gRoR o f(x)=x’-x 8ot g(x)=sin2xmr Lo AR
O\ | (2(x))>0 & 842 568 x €(0,27) ciog), Renden ot woddo

Options :




2| A
k2 | =

-

4, % *

Question Number : 3 Question Id : 5500531283 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

(a) [cosB® —sinB® 0)(x)

P
. X4y 42
If [P |=|sm0O cos® O] y]|. then Y —
| | af
lv) Lo 0 1)\lz] |
(o) [(cos® —sinB 0)(x) e
: X +¥ +Z
B |= sin® cos® 0|y . eo0d, e\ = -
| | LT
5\ ‘}l.l Fi W O U lli \ il J
Options :
o+ +7°
1.¢
2.% 0

. ap+ Py +va

IR N
I o i

Question Number : 4 Question Id : 5500531284 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



15 3\ (-1
2 4 0|, B=|-2|and [xyz]A" =B, then x+y+z=

4 )

(1 5 3) (-1}

2 4 0 B=|-2 baww [xyz]A" =B’ wand, ey
| L

3 -1 5) 4

X yge
Options :

1. % 4

Question Number : 5 Question Id : 5500531285 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time : 0

If A and B are non-singular matrices and det(AB)=(det A)(det B), then
((detA)(detB))B"A™ =

A 28050 B en Gocd Forde $8u6 Srdgen S8osn

det(AB)=(det A)(det B) e, SN ((detA)(detB))B"A™ =

Options:



. « Adj(BA)
. Adi(A)+Adj(B)

, ,Adi(AB)

(Adj B)(Adj A)
4, %

Question Number : 6 Question Id : 5500531286 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If z=x+1yrepresents a point in the Argand plane. then a point which is not in the

<21

region represented by z—1+1

3806 $008’ Z=X+1Y w8 Do APD0E, OV ‘z—l+i‘ <24
2rdotd WG arodods” 59 wd Do)
Options :

1—i

1. % 2



Question Number : 7 Question Id : 5500531287 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Let the locus of a point z in the Argand plane satisfving the condition Re (z1 |=4 be

C1 and the locus of z satisfying the conditionIm (z° |=4 be C2. Then the number of

common points of the two curves C;and C,are

6ol w0l Re(2')=4 03 Qobdrd) e H63 70 Dockoy) A0g
Docogory Cre, Im(z)=4 & Joard) $wnsd Dodoid) 7 Gvg)
Doy ‘S.J.:a“.i')l C) 09 edndomro. O\ d57en (1 ddakw C; 0 o em&,&
2otV ‘boaa}g

Options :

1.% 0

I3

Question Number : 8 Question Id : 5500531288 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



" " [0 my W
If w 15 a complex cube root of unity. then i (0° +0” ) A==
: 4

. N |
Dggo aRog), 8 ;‘oogg AT 1 VOB, B sml(mm o )n-ﬂ:

Options :

Question Number : 9 Question Id : 5500531289 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
. . . . T e
If z is a point on the circle ‘z‘ =1 with Arg(z) ==, then e
6 ool o v
T _ ZI? _1_26
Arg(z)=— & ‘z‘ =1 S0 z 28 Do) WOND, ————F—— =
6 A A |
Options:
1. % 2+31

2. v 31



Question Number : 10 Question Id : 5500531290 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If o.pand yare the roots of the equation x* +ax” + bx +c =0, then the roots of the
equation x° +(2b-a* )x*+(b* - 2ac)x-¢* =0 are

AgERL X +ax’ +bx+c=0 g darered 0.f&Bakn | G8, 0\

St X’ +(2b-a)x" +(b7 - 2ac)x - ¢? =0 O, Mreren

Options:
e, BT

1. %

o @S B+, (4D

2 ki e
3.0 0B

(a-1)° B-1)°, (y-1y

Question Number : 11 Question Id : 5500531291 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



4+5v-1 .

The value of 4x° —4x* —7x+127 when x = — s

X = Lj_l CIIWS) ALY Ax? —A%® —T%+127 BE), Dewsd

=

Options :

.

4.v4

Question Number : 12 Question Id : 5500531292 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If one root of the equation X° - 6x” +3x +10=01s the average of the other two, then
the sum of fourth powers of the roots of the equation is

HEBmA X —6x° +3x+10 =0 Qg w8 e, DA Tok darere

a3y, TS RArIS, 3 LG8 031352} Aorere T oY 200

Options :
1 v 642
643

L« 644



4 % 645

Question Number : 13 Question Id : 5500531293 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the equation having the roots as the values obtained by diminishing each root of

the equationx’ -3x*+2x-1=0 byK is x’ ~x-1=0, then K=

X' -3x7 4 2x -1 =0 20860 g 0 e Qod K Shoci oy

Dendoiy QoA DA HEEme X —x-1=0 @and, sy K=

Options :

Question Number : 14 Question Id : 5500531294 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If (.3+\/E)6 —(3—\/3]6 —a+by2.then a+b=

(3+2) ~(3-+2) =a+bV2 wons, wipyes a+h-



Options :

Question Number : 15 Question Id : 5500531295 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The number of odd positive divisors of 67500 is

67500 030, &S 830 23720 SIS
Options :

. % 16

18

5 20

4% 22

Question Number : 16 Question Id : 5500531296 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

The least value of n for which @ C ) Ju ) C,>%C, i

L ot (a1 C,5"C, @dijéoﬁﬁoéj to 1 dwg) AR Ded
Options :

1. % 7

Question Number : 17 Question Id : 5500531297 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

(4 b q)
—-[ i b g ’:a..b..c. (i=1,2.3)are the binomal coefficients in the expansion of [1+:>=;)11

’___1-l1'

then the number of elements in set A 18

l(a, b

1 1 Cll i
A={la, b, ¢, | a.b.c, (=123 (1+x) DD B0 s |
ey by ¢, J

o8, By S A 59 duresee 202

Options :



WE

12°

Question Number : 18 Question Id : 5500531298 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

311(“_4: 1C,=99:4 >n=

()

Options :

Question Number : 19 Question Id : 5500531299 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



4
> sin®(2k + l)i -
k=0 20

Options :
1.% 3
5
2.4 2
3. % 3
3
4% 2

Question Number : 20 Question Id : 5500531300 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

2sinAsinC
sin(A+C)

If tanB = _then tan A, tan B and tan C are in

2simAsinC
anB="—""—— 00, i)\ tan A, tan B dododw tanCen GoCd
sin(A +C)
Options :
Arithmetic progression

. 083G

Harmonic progression

o) S 3G
2. %



Geometric progression

, (s 3G
3. %

Arithmetico — geometric progression

., @08 —(he 3c

Question Number : 21 Question Id : 5500531301 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

X CcosA
If two acute angles A and B are suchthat A2B and —=

X
~ . then
vy cosB

XtanA -ytan B

X+y

K28 BB ST

y cosB

xtanA-vtanB
@5{)\&} - =
(& X _l_ '}I?

e.aciblgéagp Gocy LS tren A L80kn B o,

Options:

|'r o "‘I

fan {
-,

1. %

IF B = 4:%. l\!‘
TEH‘
L

e »

(A+B“
tan J
g,

3. %



Question Number : 22 Question Id : 5500531302 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

l1+cos—sinB _ l1+¢cos0+s5m06 |

1+cosO+s51n0 1+cosO—sinb
Options :

1 ¢ 25€cH

, % 2€0secH

5 % 2tan®

2cotB

Question Number : 23 Question Id : 5500531303 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If m.tan(0—30°) = n.tan(0+120°), then —— — —
' m-n
30° - m-+n
mtan(0—30°) =n.tan(6+120°) escad. TN _
™ m-n

Options :



3 « tan2b

4 % 2 sin 26

Question Number : 24 Question Id : 5500531304 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
log(cosh3+sinh3)+log(cosh3—sinh3)=

Options:

% 1

Question Number : 25 Question Id : 5500531305 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In AABC. if ashf%—.a::aain2

: o : /
AABCS, asin® —+csin?—=
2 7

Options :

121

w
¥
(Y
I~

Question Number : 26 Question Id : 5500531306 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In AABC, L +5,+5—1 =
AABCS’, +1, +1,—1 =
Options :

1« 4R

2R

3 = 4R sin A

4 % 4R COs A



Question Number : 27 Question Id : 5500531307 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In AABC.if s—a:s—b:s—c¢=2:3:4. then cotA:cotC =
AABC®’, s—a:s—b:s—c=2:3:4e003, @D\ cotAcotC =

Options :

5 % 6:19

Question Number : 28 Question Id : 5500531308 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

x2-7x+2 Ax+B Cx+D

If 1 % & 8 T s
gl dnted ¥iqpgnaed X gbns?

and a >b.then B+D=

x*-7x+2 Ax+B Cx+D
: =— o 208030 a>b Bad, W)\ B+D=
44 ¥l wihni? b

4
&

xt43x

Options :

1 % a+b



5 2a+b

3 %« a+2b

4 xa—Db

Question Number : 29 Question Id : 5500531309 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If a=1+2j-3k and b=21—-3)—35k, then

a=1+2)—3k Ho8ai» b=21-3]-5k e0w8. Y\d

Options :

d

a-b

.
Pl

1

1. %

d

a-)>i-

2. %

E+quﬁ—ﬂ
3. %

k]

. [~

a—b‘
4.

Question Number : 30 Question Id : 5500531310 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let 1-]+2kand 1+2)-2k be the position vectors of points A and B respectively. If
C is a point on the line joining A and B such that BC= 10. then the position vector of
C canbe

i+ 2k 88010 1+2j-2kew S6orm A S06ai B 63 Dok 319
2B%0RL0m. A 8ot B ok €95 B ps € wd ocdsy) BC= 10
bbby Gotd, it C awg) g»a 6% sHdAS

Options :

, 1+8j-10k

, . 1+4j—6k

i—8j+10k

3. %

. i—4j—6k

Question Number : 31 Question Id : 5500531311 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If a = 2i-j-2k and b =6i+2j-3k are two vectors such that a.b is minimum,
then t=

a = 2i—j—2k ooty b = 6i+2j-3k & Gock HB%ew a.b $30 wahibm
&of3, O t=

Options :
1.



L
2.9 4
1
3% 8
4% 4

Question Number : 32 Question Id : 5500531312 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If a=2i— j+3k, b=—3i+5j-4k and c=6i—4j+ 5k, then (axb} (bxc|=
a=2i-j+3k b=-3i+3j-4k 28aww c=6i-4j+5k eand, viyw
(axb).(bxe)=

Options :

o216



Question Number : 33 Question Id : 5500531313 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Let 7, be the plane determined by the vectors 1+ and j+k.n, be the plane

determined by the vectors i—j and i+j-k Let a be a vector parallel to the line of

intersection of 7, and 7,. [f‘a‘:\/ﬁ. then ‘3.(i‘|‘ j+k)‘:

i+] Soboty j+k deS Mdosndsd drd) T, 0D, i-] Sobaww i+j-k

PBIVD V0Iocd S T, B VDL, 2 ©dB 7, SB0W T, © PG

Baoso Hmodorr 68) a8 0B egomo. |2 =14 B, B\

a.(i+j+k}‘:

Options :

Question Number : 34 Question Id : 5500531314 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which one of the following is false?

208 TS’ B @307

Options :



Mean deviation from the mean and the Mean deviation from the Median must always
be equal.

mc.s]gmo Hoow) mqﬁ?gm D30HAD Ak mcﬁsdéo 000 mqgm QIR0

AV P DA Hoed,
1.4

The measure of variability which is a number independent of units. is called the
coefficient of variation

AR D(BOBOTT 5500 WS Vo[ TP &Y% DS dig), VSR, AkvT0s0

2908,
2. 3

The coefficient of variation i1s a relative measure of variation

DT 050, DSVDHIN ABNE), 28 Fng Sods.
3, %

Among two given data, the one having greater coefficient of vartation is said to have
more variability than the other.

Gochy Sgrodnnd’ DY JeswTosiniy SRS, Gobs o ot S S sorrd)

4 &0tn08 wotTAw.
4 %

Question Number : 35 Question Id : 5500531315 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If AB and C are three independent events of a random experiment such that

P(ANB r'*-.C°]:1, P(A r\.BﬁC‘c]:l and P(A° B mC'*):i, then P(A).

4 8 4
P(B) and P(C) are respectively
P(ANB N C*) =i. P(A°NBNC) :é HoBato P(A°NB N () =%

i AB ook € e w8 alrg)ys Hoirto dwg), Qe A dod

20850 9003, 3\ P(A), P(B) 08t P(C) dedorrr

Options:
111
A S

1. %

i 1
=, =

,x '3 8
111

3v2 34
111

ix 345

Question Number : 36 Question Id : 5500531316 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



One card is missing in a pack of 52 playing cards. If two cards are drawn randomly
from the remaining cards at a time and are found to be spades, then the probability
that the missing card is not a spade is

52 98 d0g) 0 0 ws S008) &0t Jonod. ADH HY Q08 ©
oot 2838 afrdtydom Boc DS B0 B B @Ry g ed HEY,
$0ocsor oo 98 dwg) Ay EIIES o Doerd

Options :

3

| % 50

3.% S

Question Number : 37 Question Id : 5500531317 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The probability that A speaks truth is 4/5, while the probability that B speaks truth is
3/4. Then the probability that A and B contradict each other, when asked to reveal
the fact is

A D3(0 Arere Dogrdid 4/5 20800 B d8jo Argrd dowrd(d 34, A dobafo
B e 28 DR0IrdS 2020800 Do rfa;:}:)doée 660 DBBOIEAS (o

‘rboe,?bﬁe‘.‘a

Options :

Question Number : 38 Question Id : 5500531318 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
. . 1
If Xi. Xp. ... X, are n independent events such that P(Xr):—l. =12, ...0
I+

then the probability that none of the n events occur is

M) =L1. P=12) sl eadialgezgnm X Xo o Xy 0 1 (08 00w
I+ .

G0, W\ @1 200%0S B 28Ke Sottrds e R0Er



Options :

n-+1
4 % ND+2

Question Number : 39 Question Id : 5500531319 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the mean and variance of a binomial variable X are 2 and 1 respectively, then

P(X>1)=

08 B0 9003 X G0, ©0SeA S0k DS ST 2 Sobat |
90D, @\ P(X> )=

Options :

%
i) | b=
3 | =



11

3 % 12

11
a.v 16

Question Number : 40 Question Id : 5500531320 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The probability that a person chosen at random is left handed (in hand writing) 1s 0.1.
Then the probability that in a group of 10 people there 1s a left handed person s

CBrE SO oS B 2,8 H[SS B o (Trabtrds voezodod)) o
TETP )0k R0z 0.1, 0\ 10 2008 dihe DANTOL0S” WS B
T80 BVTCTT o& Q0[S

Options :

(0.9)
1.9

_(0.9)

L (09)

4% 0.9

Question Number : 41 Question Id : 5500531321 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If A(2,3) and B(2.-3) are two points, then the equation of the locus of a point P
such that PA+PB =8 is

A(2,3) 20800 B(2,-3) Both Dochaehen wowd, PA+PB=8 edljtnrr o
28 Do) P g Dockoides 2S00

Options :

16x”*+7y" —64x—48=0
1.4
16x°+ 7y —64x+48=0
2. %
2 2
Ly 16X —T7y" +64x—48=0

, o 16X =Ty +64x+48=0

Question Number : 42 Question Id : 5500531322 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In AABC, if A=(1, 2) and the equations of the medians through B and C are
x+y=>5and x =4 respectively. then the area of AABC 15

gavao ABC & A=(1.2) So60t B 08080 € v0d o Snesitid Saew 5608
X+y=5 doBod x=4 wad, vy AABC dwejo
Options :

1% 12



Question Number : 43 Question Id : 5500531323 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The equation of the line, passing through the point (acos’6,asin’6) and

perpendicular to the line x cos6-ysin0=a.1s

(acos’0,asin’ B) Hockosy Aot ek, xcosh- ysinh=adw votore &od 59
SRLTRSHRIELRG
Options :

| 2X smb+2ycosB=asin 26

, % Xcos O—ysmnb=asm26

. XsmB+ ysinb=acos26

4% X s O—-ycosH=acos20

Question Number : 44 Question Id : 5500531324 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
A ray of light incident along a line, meets another line 7x -y +1=0 at the point

(0, 1) and it s then reflected from this point along the line y+2x =1. Then the
equation of the line of incidence of the ray of light s

w8 82 Dotd a@émc@g 28 508 S, 08 B Tx-y+1=0%0 (0.1)
Dot I3 s, W)Y BB & Dothdi) od y+2x =1 8 doard HorHdNo
oo, R\ & 08 61 DS T W) 2ebddto

Options :

| w HX=25y+25=0

5 % 41x +38y+38=0
41x —-38y+38=0
3.¢

41X +25y-25=0
4. %

Question Number : 45 Question Id : 5500531325 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If the lines joining the origin to the points of intersection of a line L and X" +y" =4

are the coordinate axes, then the equation of the line L is

L &0 B2 odakn x°+ 3-’3 =4 20&d DotdHLR) Aredotnd D5 dow

AADSERD 900S, 03y L aiwg), 2e0&6m0

Options :

| ¢ X+y=2



x+y=4
H -

3% X+y=1

4% X+y=0

Question Number : 46 Question Id : 5500531326 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Hﬂwcmndmnmglﬂre)cumﬂwcmﬁe3r—19—2x+4y:031Pmm11ﬂmn

the angle subtended by PQ at the origin is

(L-2) Dotixsd thore Fi &f 3% -y ~2x+4y=055:) P wdako Q ¢
20cx PQ B dure) Dochaid) ¢ Bk Eeao
Options:

30°

Question Number : 47 Question Id : 5500531327 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
The transformed equation of 2x™+ 3y~ z'~8x +18y+22+9=0 when the axes are
translated to the point (2,-3.1) is

ArOSEOR (2.-3.1) Dot rods D8R0 B, B\
x4 3y 7~ 8x +18y+224+9=0 axos) D80S A0

Options :

7 -
Ik 43y =z’ =25
1.¢

2%+ 3y°+2°=25
2. %

2 2 2 Az
- X =Ivi=g 2N

4w 2X 3y —2=50

Question Number : 48 Question Id : 5500531328 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If apoint R (4,y,z) lies on the line joining the points P(2,-3,4)and
Q(8.0.10), then distance of R from origin is
R(4.y.z) @3 Doco, P(2.-3.4) Lot Q(8.0.10) v 590 dwp &of,
W)\ R D0d e Dok de Brdo

Options:

v 2414



Question Number : 49 Question Id : 5500531329 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the foot of the perpendicular drawn from (0,0,0) to a plane is (I, 2, 3), then
equation of the plane s

(0.0.0) 0 8 Svop 3 A vow Sbdo (1, 2, 3) wand, ©iY\th & vk
2R0$600

Options :

e 2X+y+3z=14

1.

, ¢ X+2y+3z=14

3 % X+2y+32+14=0

[
.|_
D
L
|
fd
N
I
[a—
B

Question Number : 50 Question Id : 5500531330 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0

The line 3X+V—3=0 touches a circle S at (1. 2). If (h, k) is the centre of the circle
S such that h* +hk+k* =37 and the radius of the circle S is \m then k=

S @ Ry, 3X+Y-5=0 20 6 (1.2) 3¢ dy00d. I +hk+k’ =37
ochtrr 80 S Gg) Sodo (1K) wbot e § g, axrdo V10
DO, DR\ k=

Options :

1. % 4

Ldd

2. %

Question Number : 51 Question Id : 5500531331 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If x+y-1=0and 2x—y+1="0are conjugate lines with respect to a circle
X' +y° —4x+2fy-1=0, then f=

X' +y —dx+2y-1=0 0 csagné X+y-1=0 S08an 2x-y+1=0en
Q00301 BT, )\ =

Options:



—1or3

1 or2
- 1S 2
—2o0r0
—2 g 0
3. ¢
—1 or 2
4 —1 S 2

Question Number : 52 Question Id : 5500531332 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The product of the slopes of the common tangents drawn to the circles
X +y +2x-2y-2=0and x"+y -2x+2y+1=0 is

Xy +2x-2y-2=0 &bk X +y -2x+2y+1 =0 dyzrodh DD S
0, EN) GINE), TRV V80

Options :



Question Number : 53 Question Id : 5500531333 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The length of the chord of contact of the point (2, 1) with respect to the circle
X' 4y +4x+2y+1=0is

X +Y +Hx+2y+1=0 Sy iy (2.1) Dotos) o) 6, anf T
Options :

8

<
o

N
%
S+

w
&
by

26

L

Question Number : 54 Question Id : 5500531334 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the circles x" +y° —4x+2fy+1=0and x" 4y + 2gx~4y-1=0cut orthogonally.

then 1’ +1, -8=

X' +y - 45+ 26y +1=0 doBoso x° 477 +2gx-4y-1=0 d8e vowidyiko

SRototur eofs, N0 1 +1; ~8=

Options :

2

1.% 8

—f

Question Number : 55 Question Id : 5500531335 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If (2.3) is the vertex and (3.2) 1s the focus of a parabola, then its equation is

238 DTSVOI0 g 360 (2.3) Hboin T (3.2) Bad, B d &
2DE6E0
Options :

. x*+2xy+y —18x—-2y+35 = 0



- 2x7 +4xy+2y —-9x—y+17 = 0

2 Ixv e'z— — AN+ —=
3%}; +2xy+y —18x—-2y+17 = 0

. x* +4xy+4y° —18x+2y+9 = 0

Question Number : 56 Question Id : 5500531336 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Let A, A' be the end points of major axis, S, S'be the foci and B, B'be the end

points of minor axis of an ellipse E. If /BAB'=60 , then /SBS'=

28 88 o ES A Alew AT50 aIs), wodDockoien, S, S e ez
Sboiw B, B {_.333“3%@0 G, @od) Dot wnderro, /BAB'=60
wawd, Wi /SBS =

Options :

Tan™ (\/_2_ )

1. %

Tan™ { —2\/5)
” ,

2. o

rd

a1
Tau'1[ E |
3, % '



‘ 3
Tan 2

Question Number : 57 Question Id : 5500531337 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The equation of the pair of asymptotes of the hyperbola g Zy2 ~8x+8y+4=01s

X -2y -8x+8y+4=0 edhodvabo a3, @ed Dy, Gag 05ff) 0 a3,

Hdsmo0

Options :

X" -2y —8x+8y—-8=0

1. %

- 2x% —4y* —16x+16y-7=0
2. ®

2 a2 - , cg
3 v X =2y —8x+8y+8=0

4w 2X =4y —16x+16y+9=0

Question Number : 58 Question Id : 5500531338 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



. T (5m) T . .
Let the points Pl‘ ?}: ; PE! ? and P L y given in parametric form, lie
2 2
X

on the hyperbola ?_f_fi =1. Then these four points in that order form

‘\\T{-\I i Sﬂ: \l / T
DT AA Er0d” msﬁ&wérﬁ J P, 1?’ B I | Soboso P, r: o3

\ / \ /

q

Dotu)e, %_I_:S =1 ¥R &8 DordvAO P &) AbHocTo. O &

et Docdden s oo’
Options :
a rectangle

g BESIST DY VSO

da squarc

WS SABFTAY DE\EI*0
2. %

a parallelogram

08 VBTG BAVENDY DB DT

a rhombus

o s
. 28 2 BBEN2D) DB BT 0

Question Number : 59 Question Id : 5500531339 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If £(x)and g(x) are two real valued functions such that

f(g(x+y))= f(g(x))+ £(g(y)). g(l)=2andf (2)=L then the function g(£(x))
is discontinuous on the set

fg(x+y))= f(g(x))+ f(g(y)). g(1)=2 So8oto £(2)=1 wabiptn f(x)
0008 g(X )20 Both) TR dare)| oakren wowd, Wiy vdabo g(f(x))
AN 950335 DL G

Options :

.= R

Question Number : 60 Question Id : 5500531340 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

, 1—x +4/9%% +10x +1
I fix)= J cthen lim f(x)=

'-J‘gi X ——1"

ﬁ 1—-x+/9%x* +10x +1
f(x)= \/ 2T e9003, oy lim f(x)=

2% Xx— -1

Options :



2.v —1
3 % 0
4 % TS

Question Number : 61 Question Id : 5500531341 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which one of the following function is discontinuous at x=17

x=1 ¢ S0& oS DDA 3] DBV DE?

Options :

- - 2 2 2 2
- f(x)=sm x+tan"x+cos” x—sec™ X

F(x) =t
1+25ﬂ1}[
2. %
[ x—1
= e i |
f(x)=1|[x-1+2(x-1)’
1. %=1
3. ¢ )

P R SR
4 % I(}i)—e $=2



Question Number : 62 Question Id : 5500531342 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

2
i
b

If the locus of the points on the curve x3yz+

=5 at which the tangent 1s parallel
}'T

to X-axis is f(x,y)=0, then the point that lies on this curve f(x,y)=01s

Py +7=3 350 2 9 Dochio 36 A 16,6 X-wmd8 Hirodorr
V i

&otwol, & Doty Docndo f(x,y)=0 eowd, & S50 £(x.y)=0 p eod

2ot

Options:

Question Number : 63 Question Id : 5500531343 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

3a 3a’
If x* +y° =3axy, then at (% % ‘ the value of 3ay" +40 is
a 3a)
x> +x | o 3ay"+40 03135) QRS
"9 .'
Options :
1.% =3
2.% 0
3.¢ ‘
4. % 1

Question Number : 64 Question Id : 5500531344 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



—{b* —a’), 0<x<a

If f(x)=¢—b"————, a<x<b. then
2 6 3X
1{b’°—a’)
= 2 | X >b
3 x
P
—(b" —a” 0<x<a
2
fr’}:)—flb2 L i a<x=b L9000, €93))~ D
2 6 3T T g
| 1 BFg®
"j‘l"\ X ~
Options :

.« £'(a)=2b

, » £'(a)=1

- f(a)=b"—a"

'(x)is not differentiable at x = a

X =258 f'(X)d8%0dabo s°e
4.9 B

Question Number : 65 Question Id : 5500531345 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The area (in sq units) of the triangle formed by the normal drawn at the point
(1. 0) on the curve x =& with the coordinate axes is

350 x=¢™ 2 (1.0) Dot 3¢ A wDewow G, Airos wred 3 Hrba

DF[0 (8,057 085")
Options :

1.331

Question Number : 66 Question Id : 5500531346 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the tangent drawn to the curve [ng +1)(y-3)=xat a point P, lying in the first

quadrant, is a horizontal line, then the equation of the normal at the point P is
(7 +1)(y-3) =x 5508 Awcsth Fresoss® &y Dockosy P 3¢ A 2y, B
£0 0 w0d, B\ & Dok P I¢ eduonds GwE) B0

Options :



-
'T?:":_
3% 2
y=1

Question Number : 67 Question Id : 5500531347 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The slope of the tangent at any point (x.y) on the curve, is equal to the product of the
coordinates of that point. If the equation of the normal to the curve at the point

- b
(\E..E) is ax+by=1,then —=
a

w8 980 D @ Do) (X, ) SERT (D 6, O aRog), e, & Dothdey) ),

NEFHZY &Jgﬁ‘b% QFNo0. ) Dochor) ¢ & 5573 eDeoe) B PASGE0

d_..__.q__

b
ax+by =1 ©owd, ®iP\ —=
a

Options :

J2e

1. %

<
V2

2. %



Vae

Question Number : 68 Question Id : 5500531348 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The curve represented by

x=t"+5t +20t+ 7and y=4t -3t*~18t+3 is decteasing in the interval

x=t"+58 +20t+ 7000 y=4t -3t =18t 43 0B dardoded 3o ws8ireo
@dbé (S lelo

Options :

Question Number : 69 Question Id : 5500531349 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

,[ dx _
sin(x —a)cos(x —b)

Options :

S T ¥
., sm(a— b)

]

cos(x—Db)

1 sin(x—a)

p——
v cos(b—a)

cos(x—b)

. ® [Iog‘sﬂl(};—a}cos(x—b)u+C
4w Wj_b) | logsin(x —a)cos(x —b)| |+ C

Question Number : 70 Question Id : 5500531350 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
i Y= Jtan“ xdx (n>1),then I, +I, =
I = Jtan” xdx (n>1) e900, @@D@ I, +I =

Options :

1
—tan° x+C
1.4 9



¥
~—tan” Xx+C
.{;

3;3 -

1 5 ,

—fan x4+ C
3, %

———tan’ x+C
4. %

Question Number : 71 Question Id : 5500531351 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

=& )
If I\/;(I—Ki) 2 dx zig(ff_x))Jrcﬁ then

J.\E(l — KEJ_T}{IK =

Options :

| k2

g(f(x))+c eso0ad, XD

- f(x)=+Xx. g(x)=sin"'x

| e

N b
5 ¥ fixl=x"gix) =51 "X

3

- f(x)=x2, g(x)=cos™ x

f(x)=+x, g(x)=cos™ x



Question Number : 72 Question Id : 5500531352 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

-

‘[ - = - dx =

(1)’ +1)

Options :
1 x+1| 1
—logK———Tml'i}{Jrc
4 x—1| 2

1. %
4 log W
4 x+1| 2

2.9
1 x—1| 1
— log 2 Tanx+c
4 Xx+1| 2

3, #®
1 x+1 1 1
— log +—Tan  x+c
4 X — 2

4. %

Question Number : 73 Question Id : 5500531353 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



3
Letf:R — Rbe a differentiable function such that ‘f (x)-f (4)‘ < Z‘X - y‘i vx,yeR.
1
If £(0)=1. then sz(};)éx:

0

3
2 vx,yeR edbenfRR s ©55VA0D DDA

1
d

evs0er0. £(0) =1 wand, iy @ .[f (x)dx =

0

£(x)-f(4)|<2

X-y

Options :

—2

Question Number : 74 Question Id : 5500531354 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

iL . % "
Ixsur Xcos X dx =
0

Options :




Question Number : 75 Question Id : 5500531355 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If L’[ ‘}{ S1n };‘ dx =kmn.thenk=
0

95
0

Options :

XSInXx

dx = km eso0a, 3D\ k=



Question Number : 76 Question Id : 5500531356 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

2. %
] -_t:l
——(e" —e
. 3{ )
L. %
—(e” —e)
4.4 3

Question Number : 77 Question Id : 5500531357 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

, : 8 :
The area (i sq. units) bounded by the curves y=—, y=2x and x=4 is
X

8

y=—, y=2% 0ok x =4d5°0d :Jﬁeocgmoja5 DTV (5. oo by’
%

Options :

- 12—8log?2



, » 12+8log?2

, » 12—8log4

~ 12+8log4
4, % =

Question Number : 78 Question Id : 5500531358 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which one of the following is a linear differential equation?

& 208 T°DS° DEDTS AZOD HAEE0 DE?

Options :
dx 2 e®
+y =¢
- dy

. dr+(2r’ cotB+sin26)d6 =0

:z =gl g7 )
3. %

X'dy+xydx—1=0
, Xd3

Question Number : 79 Question Id : 5500531359 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

- , dy 2x+3y-7 : .
If X=x+h, Y=y+ktransforms —=———to a homogeneous differential

dx 3x+2y-8
equation, then (b, k)=

X=x+h dobate Yoy wdd, Lo BT & dtioirban
dx  3x+2y-38

090 24680 63 Eraroddo BBy, By (b, k)=

Options :

1 = (1 2)
2. (2,.1)
(7, 8)

. &7

Question Number : 80 Question Id : 5500531360 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If logy is an integrating factor of g—‘{ +P(v)x =Q(y). then P(y)=
}T

%+P(}’)x = Q(y) ciog), w8 dArsoD thrago logy wand, P(y)=
»

Options :

1. %



y+logy
}r
, x logy
logy
3. % J
1
4 v Ylogy
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Question Number : 81 Question Id : 5500531361 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



= 2 = . ;T 9. 3
A certain physical quantity is calculated from the formula —(a'—h‘)hd., where

J
a. b and h are all lengths and d is density. The physical quantity being calculated 1s

28 7O 3D E(a - hd g (O 09,0000, 9.6 2, b &6ako hew

3

TQew 208ako d Fogid wand §3) evndd FOE T3
Options :

velocity

FelaPubb)

volume

eblsrelelebilrPebl

1mass

G073

acceleration

LNl Pebb)

Question Number : 82 Question Id : 5500531362 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If the engine of a long train moving with constant acceleration crosses a tree with
velocity ‘u’ and the last compartment of the train crosses the same tree with velocity
‘v’ then the velocity with which the middle compartment crosses the same tree is

Dod(6Rod HAIPERLR) w8 TERH Ben oadd 28 BLD U SdwE A, 6l
360 D98 o' V' DfoF & criod. G Sucs| ¢5°h e Bewso e Srlo

Options:

(v+u)

Question Number : 83 Question Id : 5500531363 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A swimmer wanis to cross a river which is flowing at a speed v’. If the swimmer can
swim in still water at speed V', the direction he should swim to cross the river i
least time 1s

Va0 MBS V' o ssrie My v Do dirand) H6I 430 Svod
TS GV &%

Options :



Along the flow of river

1 % RO DITEF0 DowC

Opposite to the flow of river

L DO DIEIS HBOSE3S

Perpendicular to the flow of river

., 00 DS woe &S’

45° to the flow of river

38 HIEDS 45° Sesoes’
4. ®

Question Number : 84 Question Id : 5500531364 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The resultant magnitude of two vectors of same magnitude is equal to magnitude of
either. The angle between the two vectors is

DITR DOATEFL) 0 Both 8% HIS DA% HBATR0, &3 Both HA%VS W
068 DBAPEEAS Do Lo, & o vB% M| St

Options :

« 30°

1.

5 = 60°

3 = 20°



4 v 120°

Question Number : 85 Question Id : 5500531365 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A bullet of mass 20 g moving with 500 ms” is pierced 1 cm into a wooden block.
then the retarding force expetienced by the bullet is

G5y0°3 20 g o w8 angé 500 msT Siswnd parsar wé 3g), B0 &0d3
L om Sty Tk, wand & g D $DA% MG wodw

Options :

3
.« 125x10°N
. 750x10° N

. 500x10° N

4 v 250x10° N

Question Number : 86 Question Id : 5500531366 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A body of mass 10 kg is kept on a rough horizontal surface of coefficient of friction
0.3. If a horizontal force of 50 N is applied on the body. then the acceleration of the
body 1s

(Acceleration due to gravity =10 ms?)
Gogor3 10 kg o 2,8 S0 0.3 des deaso o 8 Aithsy £8% VArodE Svo
oA, 8 SR P SON £82 VArods werd) PArAedd, & S

eﬁgdeao

(rbdoeg edeao =10 ms™)
Options :

)
1 % dms™

5
i") 8
R 1118

YD
3 % 3 1S

2
4 % 1 mS

Question Number : 87 Question Id : 5500531367 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



{ 4
ll M~ A A !
A toy car of mass 100 g 1s moving with velocity of | i+2 -3k

|
\
i

m. then the kinetic

)
energy of the car i
(

6502 100 1 o 28 &5t fi\+2j—3:k

r
\

m aw & SOAr g, &

aRg, B 33
Options :

77

1. &

5 % 107

0.71

Question Number : 88 Question Id : 5500531368 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The heat energy released by water of mass 2 kg when it is cooled by 10 °C is
(Specific heat capacity of water = 4200 J kg'l K'l)

&357°3 2 kg o I8 10 °C Seesds od dbde 30 en¥s

(9% D35 Fandio =4200Tkg K)

Options :



, % 420007
, % 210007

_ » 630007

4 v 840007

Question Number : 89 Question Id : 5500531369 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following statements regarding centre of mass is NOT true?

57073 Boghosh owotiodd $06 AWBWED TF(RS WBIG TG I&?

Options :

For two particles of equal mass, the centre of mass lies exactly midway between them

R B3[03000 63) Toth SR S5V B3 Sogdo T 268" G0twod,

1. %

For three non-linear particles of equal mass, the centre of mass coincides with the
centroid of the triangle formed by the particles

R BT &) DaH0 32 e ST SOV Gfo°3 5080, &

Qe $ere0 IO &) Ggba Soorao & D308,
2. %

3. %



When the total external force on a system is zero, the velocity of the centre of mass of
the system remains constant.

oy 2 o o o, 3,
08 SO o LI w0 KPRV, DN EHT So0g o o™

E0f00d.

For two particles of different masses, the centre of mass of the particles is nearer to
the particle of lesser mass.

QDY) Edyomven (o) Gocd St [0 B3 Sogo S 9 BI(O°3 iR SEPRS

SO &ota.
4.+ 0

Question Number : 90 Question Id : 5500531370 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A particle of mass 10 g is moving towards east with a velocity of 10 ms™ and another
: : : : - . 2 =

particle of mass 15 g is moving towards north with a velocity of 5 ms~. The

magnitude of the velocity of the centre of mass of the system of the two particles is

gb5w§ 10 g Ao w8 o 10 ms” Hod e“.’iJ”dJD o, 15 g QaﬁISU"%’ 0 00’8 Seao

Sms’ Sthod &80 B3 e o). ot SIFL HHR Y3 Sogdo rfo

031352} o8dre0

Options :

g A
| o Sms

1
> % 10ms

3 % 15 ms™
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Question Number : 91 Question Id : 5500531371 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The equation of motion of a particle executing simple harmonic motion is given by

X =3 sin (6t + —), where X is in metres and t is i seconds. The ratio of the potential

and kinetic energies of the particle at time t =0 is

NGV o) § oo {f:cx:inméal w8 S0 o&xzéb SO P8GR0 X =3 sin (6t+ —)

o | A

™ aB(RARB, B8, X S’ 28050 t 2S¢, S0 1=0 I¢ Se0 o).
232 0004w (32 3P0 MG

Options :
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two particles execute simple harmonic motion along the same straight line with same
amplitude and same frequency. The two particles pass one another when moving in

opposite directions each time at a distance of — times the amplitude from their

2

common mean position. The phase difference between the two particles is
27 S0 DBIS BBk DAFH FREYo & Both &mren 28 HEY B

onc VOV TS oo SabuedR) D, Goth SEPeD :35@365 A3’

|
—— Bt €008 DBNS o

2

g“r'\‘.lo 3¢ w8 258 . Goddy SrFe el STado

SehoeniioR) DBFO 8 edo)d e o dvod

Options :

Question Number : 93 Question Id : 5500531373 Display Question Number : Yes Is Question
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Time:0



A satellite 1s placed i a circular orbit around the earth at an altitude of 1000 km. The
time period of the satellite in minutes is approximately

(mass of the earth= 6x10™ kg, radius of the earth = 6.4x10°m,
G=6.67x10" Nm’kg™)

28 G aN, 2P Aod 1000 km &’ to Sgrsd 556" Fvockodtn

60DB, & EDP AR0Y), B3YH Two TS’ Wardm

(3 g3 = 6x10™ kg, 3 J;S&’go = 64x10°m,
G=6.67x10" Nm'kg™)

Options :
. 105
200

5 % 120
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Question Number : 94 Question Id : 5500531374 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The sag developed in a bar of length ‘[', breath b’ and thickness ‘d’ when subjected
to a load of ‘w’at center 1s

(Y - Young's modulus of the material of the bar)
T T, Doy D 080k ocaw ‘A Ao w8 46 Fogan A8 W K™
c) G i @

ST B3, & DS’ SD Dorbiw

(Y-4d SrgRy) akofi (hraso)

Options :

w1
o 4bd’Y

wl’
2. ® -th &r

wl®
Ixr
3 ¥ 4bd™Y
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4w 4bd’

Question Number : 95 Question Id : 5500531375 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

A swimming pool has depth of 3 meters. The pressure at the bottom of the pool due
to water alone is

(Density of water is 1000 kg m™, Acceleration due to gravity = 10 ms?)
3m S o & S0k D 3300 A8 DU Seurd DB

(96 Froses = 1000 kg m”, o Sdeo =10 ms”)

Options:

4
- 10" Pa

13
5 % 3x10° Pa

L« 29%10° Pa

30x10° Pa
4,

Question Number : 96 Question Id : 5500531376 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

When an iron rod 1s heated. the variation of colour from dull red to white can be
explained by

9RIBVR0 A BB 6K Boffd K30l PEHB0IR Bewsy) Bord L
Sr0tr) 580 Aosow.

Options:

1. %



Boltzmann Law

£5°8) oD daddoo

Newton’s Law of cooling

SRS 259558 oo
2. ®

Stefan’s Law of radiation

DD D36 dobavo
3. %

Wien’s displacement Law

DD FHBoH Do
4.9 @

Question Number : 97 Question Id : 5500531377 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In a thermodynamic process if ‘AW’ and ‘AU” are the work done and change in the
internal energy of a system respectively, then

w8 GIoS D30 AW Bo8ot ‘AU’ B8 0 Lr80sw D[ As), wodkds
336" &rdoy wand
Options :

AU = AW in adiabatic process

2808 3ok & AU =AW

1. %

2. &



AU = AW in isothermal process

D el tioe HIahS” AU = AW

AU = —AW 1in isothermal process

JRSEE egg@v 080" AU =—AW

AU = —AW in adiabatic process

DTNE H3aH & AU =—AW
4%

Question Number : 98 Question Id : 5500531378 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A mixture of gasses consists of 16 g of Helium and 16 g of Oxygen. The ratio of

specific heats of the mixture is nearly

a9 Do’ 16 g0 srdobo drbotn 16 ge s3\29 6o, &8 koo
g ek Ay wardrm

Options:



Question Number : 99 Question Id : 5500531379 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A gas is expanded from an initial state to a final state along a path that consists of (a)
an isothermal expansion doing 40 J work. (D) an adiabatic expansion doing W work,
(c) an 1sothermal expansion doing 30 J work. If the total change in the internal energy
of the gas 15— 20 J. the work done by the gas during the adiabatic expansion W =

28 TN G 1S dvod A& NES wAVEED Srgods’(a) A egg@
T8 odf 40 T e5asrr (b) p8g TiEiod” WD duboty () ey el
avﬁéoeﬁﬁ 30750 26036, & o) as), wodbs 336°D ooy =207
9aDS ?SBGQS m&%ﬁdoeﬁe 2000 DA W=

Options :

% 507

1

L 2907

3= 107

4o 207

Question Number : 100 Question Id : 5500531380 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the pressure of a gas increases by 2% at constant volume, then its temperature

30 2203 DBATE0 IE 28 TEVY) ), D0 2% 20AS, T & T



Options :
increases by 2%
1 o 2% dErbBEG
decreases by 2%

2% Sroer08

does not change

QPG

decreases by 1%

1% S0d008
4, % 0

Question Number : 101 Question Id : 5500531381 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The mass of one mole of a gas is 22.4x10” kg and its specific heat ratio is 1.6. The
speed of sound in the gas at STP is nearly

w S ko) dog), G 22.4x10” kg Sobako #d DT Ay
1.6. & radndyes’ STP 565 e & Rooedorr
Options :

| v 402

5 % 292



Question Number : 102 Question Id : 5500531382 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The critical angle for diamond with respect to air is nearly

™ DO Hpo GRS, VodH Eeso WATET
Options :

| % 48.8°

, % 41.1°

Lad

24.4°

Question Number : 103 Question Id : 5500531383 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Angular width of central maximum of a diffraction pattern due to a single slit does
not depend upon

D% 0B D6 08 Grired dcs| B0 cvg), Seiab vy & §od T
B9 Dt BETEHED?



Options :
Distance between slit and source

DS 28030 S0 ISR Bogs5 BrSo
1. %

Wavelength of light used

sP0d Sdo Qgéo

Width of the slit

DO Detey

Frequency of light used

508 DR[O
4, % t

Question Number : 104 Question Id : 5500531384 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Flux coming out from a unit positive charge kept in air 1s

O eotsdd w8 D B DG wdso o) wADLL iy KNS
898)a°aT°0

Options :
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Question Number : 105 Question Id : 5500531385 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Three point charges 1 C, 2 C and 3 C are placed at the corners of an equilateral
triangle of side one metre. The work done to move these charges to the cotners of
another equilateral triangle of side 0.5 m 1s

28 D R o w8 VP Gaba 263w 3¢ 1 C, 2 € 2000 3 €
ZRERININ ‘%"i& & w3300 0.5 m FeA0m do ey SEda
PAVOL BENOL SoHSVD DI

Options :

| % 199x10°7

, % 19x10°7
o

L o 99%10°7

4w 29%10°7

Question Number : 106 Question Id : 5500531386 Display Question Number : Yes Is Question
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Time:0

Four metal plates, each with surface area A on one side. are placed with separation
*d” as shown in the figure. The capacitance between a and b is

(€. — permittivity of free space)
28) 8.8 w8 D GBIV DTV A o Teurd &R DUV DS’
cirdde ‘4’ dodsj (6ol GodTr. wand a, b © ddj SRSy Jenid

(&= Ry adrdgo dog) HB)BIE)

3g,A




Question Number : 107 Question Id : 5500531387 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In order to quadruple the resistance of a uniform wire, a part of it is uniformly

stretched so that the final length of the wire becomes 1.5 times the original length.
The fractional length of the stretched part is

w8 508 S ABEGH 4 Tt SosbD, &8 & &' Fodd et JS6d
FAGTED. e &6 S8 Ty §9 TEPHD 1.5 Tt a8, eond Fidab
R P ) DRy

Options :

ﬁ
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N
&
G0 | —
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Time:0



In the circuit. the value of the cuurent. I is

QDO DD, DS Daviro, I Jewd

IZI’#L 30
L
% | A

6V, 60
M
4Q

Options :

1.4 LA

, x 0.5A

2
L x 025A
L« 075A

Question Number : 109 Question Id : 5500531389 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

For parallel conductors and steady currents, the results in accordance with Newton’s
third law are

0SS ParSeR) 00D 5‘80@«{1 RTTY g o, m}@ cﬁmégj OPES (Jad)

QoRATAS e ok Ddaren



Options :
Biot-Savart law and the Lorentz force

| WAETS-055 oo Sdokn §°God eeo

Biot-Savart law and Ampere’s law

EJCﬁPéS-“n}aﬁg Qo300 S0803L e3000%06 oo
2. #®

Ampere’s law and the Lorentz force

. 230230506 Dowo 8ok S5°6oH weo

Lenz’s law and Lorentz force

L S0E oA 803w S°CGod w0

Question Number : 110 Question Id : 5500531390 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Consider a tightly wound 100 turn coil of radius 10 cm carrying a current of 2A. The
magnitude of the magnetic field at the centre of the coil is

10 cm ;ﬁséﬂgo 3DA, 2 A Desofd p3erand) Drborr eihd 100 Sobo &) G
ot HBriedocsol. e Srfeiotd Sodo B¢ wahF) 08 £ HBAER0

Options :

. 3.14x10°%T

1.

L« 628x10°T



Question Number : 111 Question Id : 5500531391 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If B 1s magnetic field and q is the charge then the following represents the Gauss’s
law of magnetism

0,08 E80 B 0B q wddo wond $08 T’ 18 WK 080
A0S, PR AADAr) APDR0E

Options:

jﬁ,cﬁ:o
1.9

N
#
Po—
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!
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Question Number : 112 Question Id : 5500531392 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A circular coil of radius 10 cm and resistance of 2 Q is placed with its plane

perpendicular to the horizontal component of the earth’s magnetic field. It is rotated

about its vertical diameter through 180° i 0.25 s. If the magnitude of the induced

emfis 3.8x107 V', then the number of turns of the coil is

(Horizontal component of earth’s magnetic field at the place is 3x107 T)

g0 10 cm. DBEo 2 Q &) a8 HTT6 Sricoly Serd) FreahiF)od £
£8RVAP0SE ©0TVS VoROTT GoE&E) Goer. & Srih &Y Do) TR0

Dbor 0.25 s 008" 180° doso Soboarth. &8 Srichins” O8RS Debojeryos

w00 3.8x107 Veand, Sl 03

(o5 08%0 96 Breah) 08 §8 2086 woso =3x10°T )
Options :
504 nuns

. o 504 o8

458 turns
458 <00

302 tuins

302 <odo
3. % =

608 turns
4% 608 <hotw

Question Number : 113 Question Id : 5500531393 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

An inductor of inductance L, a capacitor of capacitance C and a resistor of resistance
R are connected in series to an ac source. The quality factor of the circuit is

20880 L i 2,8 208wk, L8300 C o w8 S3ranb & ddotn Ao R

o w8 BGSAA w8 ac 2d5d3 F3S” D, Hoako e, Heerade

Options :

L
\ CR?
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,’LR1
2. % C
L&
P
3. % R
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Question Number : 114 Question Id : 5500531394 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



IfE, and B, are the magnitudes of the electric and magnetic fields respectively of an
electromagnetic wave in vacuum. then among the following the correct relation is

(1, - permeability of freespace, & —permittivityof free space)

HPR(OErDZ08" a8 DO 08 Sborio B koyd BBk LA 0d
¢ DBArmen HArT E, 208ain B, e00d 08 vowogred’ H5E

(1, - BordgosrRgo o), 330, &, - APy alrdgo o), HB,EDE)
Options :

Eo—=BonJLE,
W

1.

ECI 1o
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Time:0



Photoelectrons are emitted with maximum velocity v when light of frequency
3 fincidents on a photosensitive material of work function 2 hf. If the frequency of

the incident light 1s 4.25 £, the maximum velocity of the emitted photoelectrons is
(h - Plank’s constant)

3£ oo o S8, D pdoako 2 hf do g FE g T vodon
DA V 18y tod’ T’ dogrdoen &Lr6009. 4.25 f o o 08
DSIDDE GLrERM I Jugrdve A tfo

(h— o8 T0S0)
Options :

1 23 0.5 1\"7

Question Number : 116 Question Id : 5500531396 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If 'u' 1s the magnetic moment of an electron revolving around hydrogen nucleus in
an orbit of principal quantum number ‘n’, then

D °(0t0 D0 N’ (0 w8 $516° rEad Sodgo otr HBPNY) w8
QTR A 08 grdogo ‘|1 wand

Options :
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Question Number : 117 Question Id : 5500531397 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A radioactive decay forms an isotope of the original nucleus with the emission of
the following particles

GG.airerdy$ Sab p3ahE’ w8 Sogdo DN Y Ardeds & drren
egdm@@w
Options :
one o — and four P— particles
- 08 00— Ho8ain Trenth P Seren
one o.— and one PB— particles

, 5 WS 0~ 0Bl ws B— Seaeen



one ¢— and two [B— particles

08 o— Hu8a3w Cocdy [— Sezren

four o — and one P— particles

TP o — 8ol w8 [— Seen
4. %

Question Number : 118 Question Id : 5500531398 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A reverse biased zener diode when operated in the breakdown region works as

0040 & 830 GaArs & Foad Fodod GHATAD & o HABA

Options :
an amplifier
2080 erre
1. % @
an oscillator

5 % Eedo errr

a voltage regulator
ST Dodosits 508 e
3.8 i
a rectifier

4 % ;35&:5“3}5 T



Question Number : 119 Question Id : 5500531399 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The current amplification factor and the collector current in a CE transistor circuit
are 100 and 2.2 mA respectively. Then the base current is

CE gb-\j‘gé doabod’ parir :Jgé S¢S0 Bt V%08 DaEPo ST
100 0805w 2.2 MA 900 &R B5°d0 D0
Options :

x 022 pA
, v 22 uA
L« 220 A

4 % 22 HA

Question Number : 120 Question Id : 5500531400 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Digital signal
G5 Do3ho
Options :

i1s represented by a sine wave

. RS Sboriod’ ardors LS8



utilizes binary code system

B8 §& BB DB Aot
2. ¥ :

is represented by a cosine wave

202 oo Lrdod Lcos0d
3, #*

utilizes a hexadecimal code
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Time:0



The de Broglie wavelength of a particle 1s 1000 nm. What 1s 1ts momentum?
(h=6.6%10°* T5)

28 S0 avg). GES"d 360 B0 1000 nm, oD Gdidrio Jods?

&)
(h=6.6%107"T5)

Options :

- x 6.6X107F Tsm™

, 4 6.6x10% Tsm

28 4
3.#6'@{10 Jsm

, x 6.6X10%° Tsm

Question Number : 122 Question Id : 5500531402 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the uncertainty in velocity of electron Av)is 0.1 mys, the uncertainty in its

position (AX)is

(given: m, =9.1x107" kg)

oS Sriods” w380 (Av) 0.1 s, o o=d Fid0 (Ax) & 023\
(@dydé: m, =9.1x10™ kg)

Options :

% 2.02x 107 m



L« 4.04x107" m

L 579x10% m

4w 8:42x10% m

Question Number : 123 Question Id : 5500531403 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The number of following pairs of elements which exhibit diagonal relationship is :
308 Kred zobwd” 3¢ Dowotio BrDD I ?

1.B&Si i.Be&Al iiLi&Mg iv.Al&S

Options :

1.% 2
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Time:0



The correct order of atomic radii of B. Be. N and C is

B. Be. N 080w € © dodred SPjPrgre) 20500 oo

Options :

, « Be<B<C<N
, « N<B<C<Be
, o N<C<B<Be

4 % Be<C<B<N
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Time:0



Match the following

List -1 List — II
(Molecules) (Dipolemoment [t. D)

A.HO L O

B. BE; II. 0.23

C. NH; 1. 1.47

D. NF; IV. 1.85

RSHDHGSE

Do —1 Do — 11
(eog0:)eL ) (B Soderavso |, D)

A.HO L O

B. BE; II. 0.23

C. NH; 1. 1.47

D. NF; IV. 1.85

The correct answer is
RD0R VOTPT°D0

Options :

| » A~IN,B=1 C—1, D1l
b wA-IV.B-LC-IILD-1I
o AN, B-HLC-LD-1I

3

4 s A-INLB—1V,C~I, D-1I
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following is the correct order of increasing number of lone pair of
electrons on the central atom?

306 B B¢ HEATEVD) P wokB 2 JVTH 02 B gvo 87

Options :

1 % 1Fs < XeFr < IF7 < ClF3

, % 1F7 <ClF3 <XeF, <IF;

o I[F7 < XeF>; < CIF; < IF;5

4 I[F7 <IF5; < ClF; < XeF>

Question Number : 127 Question Id : 5500531407 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The vapors of 1 g of an element occupy 2.5625 L exerting a pressure of 0.5 atm at
1000 K. What is the molar mass (in g mol ™) of the element?

(Assume vapors follow ideal gas equation. Given R = 0.082 L atm mol” K'I)
1000 K :Jg), | g rosd ai"ﬁ“\w 25625 L mébﬁmwbl e8gaow), 0.5 atm
ﬁndmﬁl Seurf &8, drosy Arerd G, gmol” o Jos?

(w&hw B3 ok “@b:écﬁea“bl 5‘%%‘10&3 09808 4.

28 R = 0.082 Latm mol ' K™)

Options :



1 « 64

, = 16
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Question Number : 128 Question Id : 5500531408 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A gas obeys Charles law in the temperature range 0-500 K at a given pressure. Its
volume changes to zero at temperature of

w8 oSy 3 bomm:)l. faé’)t)sb 20 :J%S, &S:.alﬁfjé 956 (range) 0-500K
& 06, Tk WHVBAPE0 W) Arh Ealtid A6?
Options:

| w 273.15°%C

5 % 06

Question Number : 129 Question Id : 5500531409 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
In neutral or faintly alkaline medium, MnO, oxidizes I” to iodate. What 1s the

number of moles of KMnOy required to completely convert 1 L of 0.5 M KI to
1odate?

3003 I 63 DB 76 afrdgod’ M0, , I wairées m 3\¢dio
o). 1 L 0.5 M KI & aypdm eodirad m SULeUNAESY 325900 KMnOy ©
270 © R08)] 20&h?

Options :

% 05
, % 4.0
5 % 2.0

1.0

Question Number : 130 Question Id : 5500531410 Display Question Number : Yes Is Question
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Time:0

Identify the pair in which both are not extensive properties

Sodiar DG GT°)e0 S°) 20050 K180t

Options :

Internal energy, enthalpy

038 33, Jow Oy



Mass. volume

Qaﬁ}gt}“%‘, Sbarele et Tebb)
2. %

Density, pressure

FoBe, 2D
3.¢¥

Heat capacity, Gibbs energy

L e layel) ﬁeﬁb 33

Question Number : 131 Question Id : 5500531411 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
The standard enthalpy of formation of CO,(g). CaO(s) and CaCOs(s) are -393. -634,

-1210 k7 mol™ respectively. If all the substances are in standard state, the standard
enthalpy of decomposition of calcium carbonate to CaO(s) and CO,(g) (in kI mol )

is
COs(g), Ca0(s) , CaCO(s) © DAred VoFAes ro;r@bw e -393,-634, -1210
kJ mol ™. ) DT PP i{g@ﬁﬁ 08, 5°9aho 5By dE & Ca0(s) ,
COy(2) T DA BoBoserdd HAre QO{T% (kI mol” o)

Options :

| % 969
, o 183

5 % -969



4 % -183

Question Number : 132 Question Id : 5500531412 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

At 1000 K, the value of K, for the below reaction 1s 10 mol " Value of K, (in atm) 13
A(g) = B(g)+C(g)
(ziven R =0.082 atm L mol K'I]

1000 K aﬁg, S0 ::Sd?geb Ke Qe 10 mol I B Ky Qe (atm ')
A(g)=B(g)+((g)

(R=0.082atm L mol” K'l)

Options :

1 = 82

Question Number : 133 Question Id : 5500531413 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Observe the following solutions

308 Tramo 830w
i) 1ILof10° M AgNO, ii) 1Lof 10" M AgNO, iii) 1Lof 10 M AgNO,
iv) 1Lof10°M AgNO, v) ILof10°MNaCl

Which of the above two solutions when mixed will give a white precipitate, AgC1?
(Given K, of AgCl=1x10™)

D I, 3 Sodotd $Du% 3u AgCl J6yod00a?
(AgCl aog), K, deoss =1x107™)

Options :

1w (). )
(i) (V)
4 o (V). (V)

4 (. (V)

Question Number : 134 Question Id : 5500531414 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify the reactions in which H>O 1s oxidised
I. Photosynthesis

II. Reaction of H,O with fluorine

ITI. Reaction of H,O with hydrogen

IV. Reaction of H,O with P4sOyq

The correct answer is

HO €33156630 mDoedd Ssé(oan hgotsodt
I. %dmaé}g 2003 SO0

IL 88 & Hy0 56

ML &2 & HO 36y

IV. P4O10 & HyO w365

2DBIDD DA
Options :

LI

, » LI
o x ILIV

4« LIV

Question Number : 135 Question Id : 5500531415 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following statement(s) is (are) correct?
(1) LiF is less soluble in water
(11) NaCl 1s less 1onic than CsCl

(ii1) Formation of alkali metal halide is an endothermic reaction

208 DSBS’ HBALHD DD?
(i) DEeS” LiF 50 5 S0
(i1) CsCl o083 NaCl < ejs:&;ﬁ 903 S ‘éasa;ﬂsfm 08008

iil) 2B DEGE A6\l WS ENTETE B3
A A 20 )

Options :

1 & 11 only

1 & i egda

1.+

S s 1. il & i

i1 & 111 only
- i1 & 11l &Aorghadd
i only

1 &g
4. %

Question Number : 136 Question Id : 5500531416 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which one of the following is correct?
208 785" DBIDIE AH?
Options :

Thallium is more electropositive than aluminium

. @wsbabcxbo 4083 dodod :DSJGED & 3)6&355‘}%5@ R(EPH0 Gotwod
1.

Boron has high electrical conductivity

5 orD £ e DENS TS0 &0t
2. %

An aqueous solution of ortho boric acid is generally used as a mild antiseptic

ejg 2968 ey 20 Crode0 & FErdtoT Ry P Doe?)?oégé T GOOTATPD
3.¢

Boron- 11 ("'B) isotope has high ability to absorb neutrons

$'od - 11 ("B) oD 9 arrd 0 FaomE Fdudo de
4, %

Question Number : 137 Question Id : 5500531417 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Thermodynamically most stable allotrope of carbon is
& 188 TYo VF°00 BHS VO TGS Erarosdo
Options :

Graphite

8>
1.@’@:“‘



Diamond

, x &0k

Fullerene

- D8

Coke

-

Question Number : 138 Question Id : 5500531418 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

What are X. Y in the following reaction sequence?

208 HED r:.sdzgué‘s i, 5 B

X Br,
CH3(CH,)sCH3 » C7Hs > Y
I\
Options:
CH,Br
Z
X= Cr,0, 773 K, 10-20 atm Y= \
I
- Br
CH,Br
x= VEDEIS ??3 K, 10'20 Etm Y'= / ‘Il
S



X= KMnO, Y= — /‘

CH,
X= Anhydrous AICl,

4. % Br

Question Number : 139 Question Id : 5500531419 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following reactions are not feasible?

308 @ e6[e &ﬁsbd;‘g)'?

; HCl
. CH3CH=CH, = CHCH)CH-C
(CeHsCOR0;
AICI3
. CgHsg +  CH3CHCHCI » CgHsCH(CHs)
KOH
. CH3CHCICH,CI A » CH;C =CH
. KMnO4/H?*
Iv. CH3CH=CHCH; » (CH,COOH
Options :

1% [ &IV only

, « L& Il only



5 » 1 &IVonly

g o T&II only

Question Number : 140 Question Id : 5500531420 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Silver forms CCP structure and it’s density 1s 10.5 g.f‘cnf. What is the edge length
of unit cell. (molar mass of silver is 107.9 g/mol)

D36 CCP Aoy 616008, & Frogsd 10.5 glem’ T &) 6. eI 26
woekd ) dod? (A DArt (o3 1079 glmol)

Options :

0
J0.68 A

0
, V48 A

2.

0
, fes1a

3.

0
4w J680 A

Question Number : 141 Question Id : 5500531421 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



What 1s the boiling point of solution of 0.1m KCI1?
Ky, of water is 0.52 K kg mol ™, (0.=100%) (water boil at 373 K)

0.1 mKCl gridao Givg), eran@dd aPido Jod?

H,0 aog), Kp dewsd 052K kg mol ™. (0.=100%) (b 373K D8 6H)
Options :

1 = 100.104 K

, v 373.104K
273.104K

4 % 373.052K

Question Number : 142 Question Id : 5500531422 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The molarity of the solution when 4.9 g of HySO4dissolved in 250 mL of solution is

4.9 g of HyS04 &0 250 mL gradeanss” $8A000:)6 o 0hog), Aerdt) Jods?

Options :

1% 0.1

, ¢ 02

L% 03



4 x 04

Question Number : 143 Question Id : 5500531423 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following is correct with respect to the graph given?

[R] = Concentration at time ‘t’

[RL: Initial concentration

[Rly T
T T K= - Slope [R],
log— k
Rate [R] (R] Slope = 3353
Concentration Time Time —»
| i 11l

V0 T © DoTe S8 TS B VODA?
[R] =t5r00 && e
(&)

[R]. = &rdoas mresed

[Rlo |
t t B
— K
B [R] [R] TR = n
TEd —p -} — BU0
1 11 11|

Options:

1. %



L. III represent first order and II represents zero order reaction

L I &0 00 $808, [T 3| 8008 S56(y Sigo SJron

I, I represent zero order and ITI represents first order reaction

L II e 30°a{ 800708 SoBain 1T D $50708 6] Ao g0 5@‘0&3
2. %

L. IT. IIT all represent zero order reactions

L IL IIT 0 ) 3070 Sarros e56(R0 Higo SJrom
3. %

I, II. IIT all represent first order reaction

L IL IIT e ) 68 $h5r08 S96{R0 Higo BSJrow
4. %

Question Number : 144 Question Id : 5500531424 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Some statements about Lechlanche cell are
(I) Anode is zinc metal

(IT) Cathode is graphite rod surrounded by powdered MnQ, and carbon

(I1T) Electrolyte is a moist paste of ZnO and KOH
(IV) Oxidation product is ZnO
The correct statements are

J5700) 20005 Doeodow) § .‘l‘lﬂl SR EHOV

(I) 205 &S0 8S&

(I) MnO,, C © Doz Srdo & 2BDR32S TRE 58 TEE
(II) ZnO, KOH © &¢ >3 Deoj@8aso

(IV) e_eébs-:sm &dy®)0 Zn0

2BAD [0
Options :
I & II only

- I 06w 1T S

IT & IIT only

- II 0dosn T Sorgha

I & IV only

_ Tsodato IV argd
3.



[ IT & III only
L 1T &o8asn I &oreda

Question Number : 145 Question Id : 5500531425 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Match the following

List—1 List—II

(Dispersed Phase — Dispersion medium) (Type of colloid)
A) Solid - Liquid [) Gel
B) Liquid - Liquid IT) Aerosol
C) Solid - Gas I1T) Sol
D) Liquid — Solid IV) Emulsion
The correct answer is
doe -1 Ao -1
(D& &3 - &0 alrdso) (Serané <o)
A) D& oErdo ~ G :Jr:rt'go I) &
B) ¢ dergo - ¢ e II) dond 6
C) 203 dEgo ~ Tosn Do 1) &5
D) &5 Dedo — L0 :Jc?go IV) 009

BAR W&o
Options :

. % A-IL B-IIL, C-I, D-IV



5 o AL B-IV. C-11, D-1
A-IIL B-1V. C-1. D-1I
3. %

4« A-L B-1L C-IV, D-11

Question Number : 146 Question Id : 5500531426 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Given below are two statements (S-1 and S-IT)

S-I: Scattering of light by dispersed particles of colloidal system is known as
Tyndall effect.

S-II: The diameter of the dispersed particles should not be much smaller than the
wavelength of the light used.

Choose the most appropriate answer from the options given below.

S08 Goco qafen (S-1, S-10) @&55&:&&&'3.

S-1: Serané gramo € DEDR0 S08D Srred STodR D850 SodTFo0. AR

Botre) Herdo otrd.

S-II: Serané Sero o &ddrhondd 208 ddof 80 Sotd tre) Se) P

GOLSPEARD.

306 2 Tud" edod HOIH VATETHANR J)Eod
Options :
Both S-I and S-II are correct

_— S-I, S-II en Gods RVBHD



S-1 is correct but S-I1 is incorrect

S-1 5858 52 S-II HBHE 5°¢o
2. %

Both S-I and S-II are incorrect

S-I, S-IT e Godr DB 5°D)
3. %

S-1 1s incorrect but S-I1 1s correct

| STR008 5t 50 S-I1 2338

Question Number : 147 Question Id : 5500531427 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The metal purified by Mond process is X and metal purified by van Arkel method is
Y. Xand Y respectively are

Srol DG o5’ woddabed S0 X, R 00 ;xgw éognfio:imd S0 Y
oS X, Y e H8dm
Options :

1,wN1' Vi §

_ Mn, Ti

3 x Z1. Tl



« N1, Cu

Question Number : 148 Question Id : 5500531428 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Manganese dioxide on heating with concentrated hydrochloric acid gives a greenish
yellow gas, X. With excess of ammonia X gives Y and Z. Y and Z respectively are

7ot G\ &0 e 308 565 ol SAEVDR K DRI eidisy dorh
i) X & 2008, X 0ds eﬁﬁ:ﬂébméﬁ S So&a%m Y,Zw
i)dbd@“m:. Y, Z en H&am

Options :

NH,F. N,

1. %

~ NH,IL NOCl
2. %

NCIl,. HOC]

NH,CL N,
4. & =

Question Number : 149 Question Id : 5500531429 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The spin only magnetic moment of [MHB]‘JX_ is 5.9 BM. The geometry of the

complex and X respectively are
[MuBr, |~ 2y0 92068 Srgidy e9030a 08 gridogo 5.9 BM. 030 cig).
{8 B0 X L0 HERT
Options :
tetrahedral. 1

| BErargo, 1
1. % :

square planar, 1

DESO PSR, 1

square planar, 2

Rewde DSLBR, 2

tetrahedral. 2

Serar e, 2
4. &

Question Number : 150 Question Id : 5500531430 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following are correct?

i. V¥ liberates hydrogen from a dilute acid
11. The earlier members of lanthanide series behave more like aluminium
ii1. The “silver’ UK coins are made of Cw/Ni alloy

1v. The maximum oxidation state exhibited by Neptunium is +7

408 T 2OGHHD AD?
i, da0 @20 &od V7, rEad & s Si00d.

ii. erodRdE 3B I’ QOB BTV L) ST BTN HO
2d0Fa.
iii. ‘o6’ UK arden C/Ni o3 &3m0 & dairsnzran
1v. 3Dabo HE60t80 (18 e53y36r S +7
Options :
1. 1i1 only

-, i Srgdd

i1, iv only

i1, 1V &gy
2. %

1. iii, 1v only

i. 11, 1V &Sorgda
3.¢

1. 11, 111 only

i, 11, 111 eghadd
4, *



Question Number : 151 Question Id : 5500531431 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Identify the correct statement from the following with respect fo high density
polythene

308 T8’ B8 Fogid DA L 020500 2T DDt Hioed
Options :
TiCls and EtzAl used as catalyst for preparation

B8R 088" TiCly H8asw EBAL &0 ed \G8orr oromrdd
1. "-"'/ M

Obtained by the polymerization of ethene at 350-570K

350-570 K 5¢ 68 0088680 o700 Jooordd
2. % o

Has highly branched structure

- oS Fearoie QD‘”&E.?D Sedd

Chemically active

. S aDASorT OESIE

Question Number : 152 Question Id : 5500531432 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following correctly represents hydrogen bonded pairs in DNA?

406 706" A& DNA &' H5ond 3TE @ 208 230 AFd0S?
Options :

. » E=0; T=A

G=C;T=A
2. ®

G

3 % e

A

L o BE BB

Question Number : 153 Question Id : 5500531433 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In D - glucose (X) and D — Fructose (Y), which hydroxyl group participates i
hemiacetal formation

D- (8% (X) n00k0 D- 264 (Y) &' O 52esy 2duripand Pdoere
i)dgdéao@ﬁ 5“92" 080067
Options:
C—-5mbothXandY
v X 08030 Y Godotdes® C —5
C-5S5mXandC-6mY

XeC-5208a0Y S C-6
2_23



C—6mXandC-5mY

XS C—6208a0Ye" C-5
3. %

C—4mbothXandY

X 208030 Y Sodotdes” C -4
4_ W

Question Number : 154 Question Id : 5500531434 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Chlorine containing artificial sweetner is
£63 $dhe) 8 SL 60 AB?
Options :

Sucralose

208e5°%

1.+

Aspartame

020 B
2. % &

Saccharin

MR ELS

Alitame

e
4. %



Question Number : 155 Question Id : 5500531435 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Arrange the following in correct order towards Sy2 reaction.

1- Chloropropane  2-Chloropropane | —Todopropane  2- TIodopropane

I II II IV

308 T8 Sy2 e[ 23D §h0d wddyol.

1- 880D 2- §8T0 | -0@rETo0  2- odrETnd
I II I IV
Options:

1. HI e I e n* = II

, x LI=IV > 111

3 % [2II=>II>1IV

4, % I =T =Ir=TV

Question Number : 156 Question Id : 5500531436 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following is an ambident nucleophile?

S0b ToOS” DO ws eoDECES Ar(SBTDES?

Options:



Amimonia

_ @EIP(LQW
1. % 2,

Chloride 1on

£8E waird
2. %

Water

——

Cyanide ion

HOHDE 903D
4. &

Question Number : 157 Question Id : 5500531437 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following belongs to benzylic alcohol type?

308 TS & BoFZDS es0) H*S 83003 BotArd?
Options :

1 — Phenyl — 2 - Propanol

- o3 2 -5

1 — Phenyl — 1 — Propanol
, o 1-0R5 —1-T08S



4 — Phenyl —but- 3 —ene—2 —ol

4 — 005 —au?SéS % g =2 =gl
3. %

2 —Methyl —but- 3 —ene—2-ol

2 — 085 —enfes - 3 -0 —2-o0l
4. %

Question Number : 158 Question Id : 5500531438 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

What are "X and ‘Y respectively in the following reactions?

308 1555@@‘5 X’ 208050 Y’ o0 ST 97

OCH,

X . BYQ HI Y
major 3%  CHaCOOH A
Options :

OCH.Br OH

+ CH;jl
1. % |
OCH. OH
+ CHs4l
5 o Br



OCHj I

Br
\,Ij + CHE,GH
® 1

OCH,

I
© : + CH;l
4, ® Br

Question Number : 159 Question Id : 5500531439 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Among the following the appropriate reactants for the preparation of

1 — ethyl cyclohexanol are

| - &89 ;nggﬁa:osﬁej 20 S0t S0HedS 08 THS 3D Solradsen

Options:

SR
1.¢
m ' BH3
2. %
MgBr
+  CHsCOCHs,
.

3.



@]

Question Number : 160 Question Id : 5500531440 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The type of reaction ‘X" and product “Y" of the following are respectively

308 17355 cfm% e.’mﬂé dsan X’ sudadn G@D:ﬁlﬁ Y’ e odonrr

CHN,Cl + CHNH, —— Y

Options :

Electrophilic Substitution

OO
Qvg 288 HOEDe

O

Nucleophilic Substitution

QNH—NH@NHZ
Ar(Sairads pogen
W

3.



Nucleophilic Substitution

ngécfmin% DBEDE

O=p

NH,



